
SAP ABAP table /SPE/CD_STKEEP {Relationship Between CD Plants and Storage Locations}

_SPE_CD_STKEEP

MANDT [CLNT (3)]

ORIGINAL_PLANT [CHAR (4)]

DEST_PLANT [CHAR (4)]

STKEEP_STORLOC [CHAR (4)]

SHIPPING_POINT [CHAR (4)]

T000

MANDT [CLNT (3)] /SPE/CD_STKEEP-MANDT = T000-MANDT 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 /SPE/CD_STKEEP-STKEEP_STORLOC = T001L-LGORT 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 /SPE/CD_STKEEP-DEST_PLANT = T001W-WERKS 

0..N

0..N

 /SPE/CD_STKEEP-ORIGINAL_PLANT = T001W-WERKS 

0..N
0..N

TVSWZ

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VSTEL [CHAR (4)]

 /SPE/CD_STKEEP-SHIPPING_POINT = TVSWZ-VSTEL 

0..N

0..N


